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GEOGRAPHY
Paper 11

Time Allowed : 2 Hours] [Maximum Marks : 200

Note :— This question paper contains one hundred (100) multiple choice questions.

Each question carries twq (2) marks. Attempt all questions.
“Isopycnals” are :
(A) Surface of equal density (B) Surface of equal pressure
(C) Surface of equal wind speed (D) Surface of equal salinity
Kurukh is spoken by the people primarily settled in :
(A) Telangana plateau (B) Karnataka plateau
(C) Chhota Nagpur plateau (D) Sﬁillong plateau

Multi-modal International Cargo Hub and Airport (MIHAN) project is in which
of the following cities ?

(A) Mangalore (B) Hyderabad
(C) Pune (D) Nagpur

Which among the following group of states represénts one third of India's
cattle population ? |

(A) Uttar Pradegh, Bihar, Maharashtra

(B) Pﬁn;iab, Orissa, Rajasthan

(©) Kamatai:a, Rajasthan, Mdha Prasdesh

(D) Madhya Pradesh, West Bengal, Uttar Pradesh

INSDAG (Institute for Steel Development and Growth) is located at :
(A) Kolkata , (B) Delhi

(C) Hyderabad ' (D) Chennai
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6. Which among the following is/are correct matches ?
(1) Nainital — Tectonic Wetland
(2) Lok Tak Lake — Oxbow Wetland
(3) Lonar Lake — Crater Wetland
(4) Chilka Lake — Lagoon Wetland
(A) Only (1) and (3) (B) Only (2) and (4)
(C) Only (1), (2) and (4) (D) All are correct
7. Consider the following :
(1) Minor Irrigation Scheme : CCA less than 2000 Hectares

(2) Medium Irrigation Scheme : CCA more than 2000 Hectares but less than
10000 Hectares

(3) Major Irrigation Scheme : CCA more than 10000 Hectares
Which among the above statements is/are correct ?

(A) Only (1) and (2) are correct  (B) Only (2) and (3) are correct
(C) All are correct (D) All are incorrect

8. Which of the following state/s have been reported slum free in the census
2011 report ?

(1) Goa

(2) Manipur

(3) Sikkim

Select the correct answer using the codes given below :
(A) (1) and (2) only (B) (1) and (3) only
(C) (2) only (D) (2) and (3) only

T.B.C. : 06/18/SET—II 4
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10.

11..

12.

T.B.C.

Other than conducting census, the office of the registrar general and census
commissioner performs which function ?

(A) Registration of marriages.

(B) Registration of births and deaths
(C) Both (A) and (B)

(D) None of the above

‘Rank-Size Rule’ is useful in studies of :

(A) Soil Types (B) Settlement Systems

(C) Plant Communities (D) Climate Region

Consider the following statements regarding Command Area Development |
and Water Management :

(1) The Centrally Sponsored Command Area Development (CAD) Programme
was launched in 1974-75 for development of adequate delivery system
of irrigation.

(2) The Programme is being implemented under Pradhan Mantri Krishi
Sinchai Yojana (PMKSY) - Har Khet Ko Pani - from 2015-16.

Identify the correct statement/s :

(A) (1) only (B) (2) only

(C) Both (1) and (2) ' (D) None of these
What is this ‘vertical farming’ ? |

(A) It is a new method of agriculture in which crops are cultivated inside
multi-storey buildings .

(B) It is a new method of agriculture in which various unrelated crops are
grown together in same tract of land

(C) It is a new method of agriculture in which various closely related crops
are grown together in same tract of land |

(D) In vertical farming, many systems such as aquaculture, sericulture,
pisciculture and bee culture are altogether used for better use of land
and resources '
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13.  With which of the following, the Agenda 21’ of Rio Summit, 1992 is related
to ?

(A) Sustainable development
(B) Combating the consequences of population explosion
(C) Mitigation norms of Green House Gases (GHGs) emission

(D) Technology transfer mechanism to developing countries for ‘clean-energy’
production

14. Which of the following is/are incorrect pairs regarding classification of
biodiversity ?

(1) Alpha diversity — Between community diversity
(2) Beta diversity — Within community diversity
(83) Gamma diversity — Overall biodiversity

Select the correct option from the codes given below :

(A) Only (2) | (B) Only (3)
(C) (1) and (2) M) (1), (2) and (3)
15. The ‘Thickness’ of stratospheric ozon;e layer is measured in/on :
(A) Sieverts (B) Dobson units
(C) Melson units (D) Beaufort Scale
16. The ‘Red Data Book’ is the documentation of rare and endangered species
‘of :
(1) Animals
(2) Plants -
(3) Fungi
Select the correct option from the codes given below :
(A) Only (1) ~ (B) (1) and (2)
(©) (2) and (3) @ (1), @) and 3)

T.B.C. : 06/18/SET—II 8
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17.

18.

19.

20.

Gliarana Wetland, which was notified the important Bird Area is located in

which among the following states of India ?
(A) Haryana (B) Himachal Pradesh
(C) Punjab (D) Jammu & Kashmir

Now-a-day’s Environmental Accounting is making news. What is Environment

Accounting ?

(A) It is a method to measure the consumption of the environment/natural

resources
(B) It’s a method to statistically analyze the green areas of the country

(C) It’s a method of accounting in which all units are expressed in terms

of loss/gain of CO, |

(D) It’s a method of accounting in which all measurements are expressed

in Carbon Credits
Bench Terrace are constructed on land surface with :
(A) Steep slopes (B) Mild slopes
(C) Zero Percent Slopes (D) Grasslands

The National Chambal (Gharial) Wildlife Sanctuary, which is one of the large

eco-reserves of the country is co-administered by which among the following

~ states ?

(A) Rajasthan & Uttar Pradesh

(B) Rajasthan & Madhya Pradesh

(C) Madhya Pradesh & Uttar Pradesh

(D) Rajasthan, Madhya Pradesh & Uttar Pradesh

T.B.C. : 06/18/SET—II 10
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21.  Neyveli is associated with :
(A) Copper (B) Mica
(C) Manganese (D) Lignite
22. Western Ghats is an example of :
(A) Intercomtinental rift (B) Passive continental margin
(C) Continental flood basalt - (D) Transform fault
23. Which of the following is incorrect ?

(A) At the international level, the Club of Rome advocated resource

conservation for the first time in a more systematic way

(B) The seminal contribution with respect to resource conservation at the

global level was made by the Brundtland Commission Report

(C) Mass production methods were once again presented by Schumacher in
his book ‘Small is Beautiful’

(D) .None of the above

24.  With reference to two non-conventional energy sources called ‘coal bed methane’

and ‘shale gas’, consider the following statements :

(1) Coal bed methane is the pure methane gas extracted from coal seams,
while shale gas is a mixture of propane and butane only that can be

extracted from grained sedimentary rocks.

(2) In India abundant coal bed methane sources exist, but so far no shale

gas sources have been found.
Which of the statements given a;bove is/are correct ?
(A) (1) only (B) (2) only
(C) Both (1) and (2) (D) Neither (1) nor (2)

T.B.C. : 06/18/SET—II 12
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25.

26.

217.

28.

29.

30.

Which of the following has the most promising geothermal field in India ?
(A) Puga valley (B) Nubra valley

(C) Chumbi valley (D) Silent valley

Which is the Indian state with longest surfaced road, as per 2011 survey ?
(A) Andhra Pradesh (B) Maharashtra

(C) Tamil Nadu (D) Uttar Pradesh

In India the steel production industry requires the import of :

(A) Saltpeter (B) Rock phosphate

(C) Coking coal (D) All of these

Which of the following National Parks is unique in being a swamp with floating

vegetation that supports a rich biodiversity ?
(A) Bhitarkanika National Park  (B) Keibul Lamjao National Park
(C) Keoladeo Ghana National Park (D) Sultanpur National Park

‘Bindusara River’ and ‘Sabari River’ are the tributaries of which of the following

river ?
(A) Krishna River (B) Godavari River
(C) Narmada River (D) Damodar River

The process of urbanization is typically represented through which one of

the following curves ?
(A) Logarithmic curve (B) Logistic curve

(C) Gompertz curve (D) Exponential curve

T.B.C. : 06/18/SET—II 14
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31.

32.

33.

Which of the following is/are considered as the indicator of Human
Development ?

(1) Human Poverty Index for developing countries (HPI-1)

(2) Human Poverty Index for selected DECD countries (HPI-2)
(8) Gender Development Index (GDI)

(4) Gender Empowered Measurement (GEM)

Which of the statement/s given above is/are correct ?

(A) (1) and (2) (B) (2) and (3)

(C) (1), (2) and (3) (D) All of these

What are the benefits of implementing the ‘Integrated Watershed Development
Programme’ ? ' ‘

(1) Prevention of soil runoff

(2) Linking the country’s perennial rivers with seasonal rivers
(3) Rainwater harvesting and recharge of groundwater table
(4) Regeneration of natural vegetation

Which of the statements given above is/are correct ?

(A) (1) and (2) only (B) (2), (3) and (4) only
(C) (1), (3) and (4) only D) (1), (2), (3) and (4)

With reference to the Indian Ocean Dipole (IOD), consider the following
statements :

(1) The western Indian Ocean becomes alternately warmer and then colder
than the eastern part of the ocean.

(2) A study has found that IOD results drought in the southern half of
Australia.

Which of the above statement/s is/are correct ?
(A) (1) only (B) (2) only
(C) Both (1) and (2) (D) Neither (1) nor (2)

T.B.C. : 06/18/SET—II 16
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34. Consider the following statements :
(1) River Narmada runs through only three states.
(2) Kaveri River’s basin covers three states and Union Territory.
Which of the above is/are correct ?
(A) (1) only (B) (2) only
(C) Both (1) and (2) (D) Neither (1) nor (2)
35. 'Ranjif Sagar Dam is locatgd on :
| (A) River Ravi " (B) River Beas
(C) River Jilelum | (D) River Chenab

'36.  Which among the following are important limitations of Human Development

Index (HDI) ?

(1) It contains social exclusion and discrimination.

(2) It does not take into account income inequality.

Which of the abo%e statements is/are correct ?

A) 1) oﬂly (B) (2) only

(C) Both (1) and (2) (D) Neither (1) nor (2)
37. ANOVA examines the following :

(A) Compares Z scores between any two populations

(B) Compares mean between any two populations

(C) - Compares dispersior;' between any two populations

) None of the above

TB.C. : 06/18/SET—II 18
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38.

39.

40.

4]1.

42.

Which among the following city is called “Zero Mile Center” because of its
location on India’s Geographic center ?

(A) Bhopal | (B) Allahabad

(C) Nagpur (D) Indore

Rajmahal hills in the eastern India belongs to which of the following ?
(A) Cuddappa System (B) Dharwar System

(C) Gondwana System (D) Vindhyan System

Which of the following conservatio.n sites are known as little Kaziranga ?
(A) Manas (B) Orang

(C) Pabha (D) Sonai Rupai

Consider the following statement/s about doldrums :

(1) they are a high-pressure region.

(2) they are a zone of wind divergence.

Which of the statements given above is/are correct ?

(A) (1) only (B) . (2) only

(C) Both (1) and (2) (D) Neither (1) nor (2)

Inversion of temperature is observed in relation to which of the following

phenomenon :

(1) Radiation inversion during long cold winter nights

(2) At fronts in temperate cyclones

(3) Absorption of UV rays by ozone layer

(4) Downward movement of air froﬁ upper parts of valley during winter.
(A) (1) and (4) - (B) (1), (2) and (4)

(C). (2), (8) and (4) | D) (), (2), (3) and (4)
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43.  Which of the following statement/s is/are correct with respect to El Nino ?

(1) It is caused due to weak Trade winds making warm waters move

eastwards.

(2) It deepens the thermocline at the western coast of South America.

(&) (1) only ®B) (@ only

(C) Both (1) and (2) (D) Neither (1) nor (2)
44. What is meant by a ‘Guyot’ ?

(A) An underwater plain surrounded by mountains on all sides

(B) An undersea mountain with a flat top

(C)' The deepest point on the abyssal plain

(D) The part of the undersea mountain appearing out of the water
45. Consider the following statements :

(1) The transform fault is formed at destructive margins of continents.

(2) San Andreas fault is a transform fault.

Which of the given statements is true ?

| -(A) (1) only (B) (2) only
(C) Both (1) and (2) (D) Neither (1) nor (2)

46. ‘Gir Kesar’ which has been given the Geographical Indication (GI) tag, is a

famous variety of which among the following ?
(A) Saffron (B) Pepper

(C) Mango D) Sweet
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47.

48.

49.

50.

Which of the following is a misfit ? |

(A) Variance (B) Standard deviation
(C) Coefficient of determination (D) Standard error
Which of the following statements regarding Laterite soils of India are correct ?
(1) They are generally red in colour |
(2) They are rich in nitrogen and potash.

(3) They are Well-developed in Rajasthan and UP.

(4) Tapioca and cashew nuts grow well on these soils.
Select the cbrrect answer using the codes given below :

(A) (1), (2) and (3) (B) (2), (3) and (4)

(C) (1) and (4) (D) (2) and (3) only
Karewa formations are found in which region ?

(A) Punjab Himalayas (B) Kashmir Himalayas
(C) Himachal Himalayas (D) None of these
Consider the following statements :

(1) The duration of the monsoon decreases from southern India to northern
India. |

(2) The amount of annual rainfall in the northern plains of India decreases

from east to west.
Which of the statement/s given above is/are correct ?
(A) (1) only ' (B) (2) only
(C) Both (1) and (2) (D) Neither. (1) nor (2)

T.B.C. : 06/18/SET—II 24




47, freffan § @ 99w frfee ¥ 2
(A) fa=rm (B)mﬁaaq
(€) Frefor &1 o D) ¥ Ffe
48. Trafafed # ¥ SHE Fu R Ht A et & aR # W@ ® ?
1) 3 o™ IR WA T H L
(2) 3 TR IR TR § wgg €
@ A T R TR e § ok W @ ffe
4) 7 fafeedl m fashion 3R &9 o=t @ ¥ ¥ 2 €
9 S T #IE F I FE WE W I

A) (D), (2) IR 3) (B) (2), (8) 3R (4)

©) (1) 3R @) (D) #aa (2) 3R (3)
49. ‘=’ fHW &7 # qU I ¥ 2

(A) e fewerE (B) wvHR fenmer™

© feren femem O T @ P

50. frafafed sl W foeR ®ifea
(1) 99gT it @fy < 9yRd ¥ W WRA 9% %9 & 9 §)
2) 9Rd & U0 e # aiftfe anf & wmen gd @ uftem 9% we W R
SR foeu T FweA A ww W eE ?
(A) Had (1) | (B) #aa (2)
(©) = 1) 3R (2 D) 7@ (1) A A& Q)

T.B.C. : 06/18/SET—II 25 P.T.0.



51. Which of the following winds are known as anti-trade winds ?
(A) Chinook (B) C&clones
(C) Typhoon (D) Westerlies

52. -Which of the following is a warm ocean current ?
(A) Canary |, (B) Labrador
(C) Gulf Stream (D) Kuril

53. The iron ore from Kudremukh is most likely to be expo;'ted thi'ough ¢
(A) Ennore (B) Goa
(C) 'Kochi (D) Mangalore

54. Which of the following glaciers is not located in Karakoram Range ?
(A) Siachin (B) Hipsar
(C) Baltro (D) Sonapani

55. The oldest oil refinery of India is :
(A) Digboi, Assam (B) Haldia, West Bengal
(C) Koyali, Gujarat (D) Noon Mati, Assam

- 56.  Which one of the following landform is not associated with glaciation ?
(A) Hanging Valley (B) Moraines
(C) Inselberg (D) Drumlin

57. The book “Urbanization and Urban Systems in India” is written by :
(A) H. Ramachandran R (B) R.P. Mishra

(C) R. Ramachandran (D) R.L.Singh
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58.

59.

60.

61.

62.

Who is known as father of GIS ?

(A) Jack Dangernond (B) Ian McHarg

(C) Roger Tomlinson (D) Jhon Snow

Which state is earned the name of fruit bowl of the country ?
(A) Jammu and Kashmir (B) Uttarakhand

(C) Sikkim (D) Himachal Pradesh

Which photointerpretation keys are most useful to differentiate forest and

agriculture ?

(A) Colour and texture (B) Colour and Shape
(C) Colour and Size (D) Shape and Texture
Which of the following statements is not correct ?

(A) LANDSAT is geostationary satelﬁte

(B) IRS is a sun synchronous satellite

(C) INSAT is geostationary satellite

(D) SPOT is a sun synchronous satellite

Which one of the following is a key concept in humanistic geography ?
(A) Develppinent and quality of life

(B) Spatial location

(C) Spatial concentration

(D) Geographical distribution
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63. Match List I with List IT and select the correct answer using the codes given

belpw :

(Biosphere Reserve)

List 1

(@) Manas

(b) Nokrek

(¢) Gulf of Munﬁar

(d) Nanda Devi

Codes :

(@)
A) @
(B) ()
©) @

D) 4)

(b)
3)
(1)
1)
(3)

(c)
(4)
(2)
(4)
(2)

(@)
(1)
3)
3)
(1)

(1)

(2)

3)
(4)

List II
(States)
Meghalaya
Assam
Uttarakhand

Tamil Nadu

64. The Kathiawar Peninsula is an example of :

(A) Emerged shoreline

(C) Ria shoreline

(B) Submerged shoreline

(D) Dalmatians shoreline

65. Who said ‘similar locations lead to similar mode of life’ ?

(A) F. Ratzel

(C) A. V. Humboldt
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66. Which one of the following regions practicing most intensive subsistence

farming ?
(A) Pampas region - (B) Murray-Darling Basin
(C) California Valley (D) Monsoon Asia

67. The determining factor of population region is :
(A) Birth rate (B) Death rate
(C) Density of population (D) All of these

68. The aboriginal population of Andaman Island beiongs to which one of the

following racial categories ?
(A) Negroids ~ (B) Negrito
(C) Paleo-Australoid (D) Negrillos
69. Pelagic deposits are mainly found below the depth' of :
(Aj 1000 fathoms (B) 100 fathoms
(C) 600 fathoms (D) 200 fathoms
70. The most abundant gas emitted from volcanoes is :
(A) Water vapour ~ ° (B) Helium

(C) Sulphur dioxide (D) Carbon dioxide
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70. i ¥ fee el W wR e
(A) & T . (B) diferam
(C) TEw SRS (D) FA TRIAFIREE

T.B.C. : 06/18/SET—II 33 : P.T.O.



71.  Match List I (Cloud) with List II (Characteristics) and select the correct answer

using the codes given below the lists :
List I

(Cloud)

. (@) Cirrus

(b) Stratus

(¢) Nimbus

(d) Cumulus

Codes :

(a)
A @
B) 3)
© @)
D 3)

®)
ey
(4)
(4)
(1)

(c)
(4)
(1)
(1)
(4)

(d)
(3)
2)
3)
(2)

ey
2)
(3)

4)

List II
(Characteristics)
Rain giving
Feathery appearance
Vertically growing

Horizontally spreading

72.  Transhumance is still an important component of the socio-economic life in

the people in the region of :

(A) Andaman and Nicobar Island (B) Meghalaya

(C) Jammu-and Kashmir

(D) Tripura

73. The term 'Megalopolis' was propounded by :

(A) C.D. Haris

(C) Brain Berry
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74. Thunderstorms originates from :
(A) Nimbostratus clouds | (B) Alto cumulus clouds
(C) Stratus clouds (D) Cumulonimbus clouds

75.  Which one of the following is the most important basis of the Whittlesey's
classification of agriculture of the world ?
(A) Functioning forms of agriculture
(B) Distribution of climatic elements

(C) Forms of livestock grazing activities

(D) Regional distribution of the principal crops and animals of commercial

significance

76. Which of the following are correctly matched ?

(1) Selvas | Republic of Kango
(2) Llanos Venezuela
(3) Compos California

(4) Veldt South Africa
(A) (1), (2) and (4) |
(B) (2), (3) and (4)

(C) (1), (2) and (3)

(D) All of the above

77.  Calcium carbonate deposited by precipitation from carbonate saturated waters

around a hot spring is calleflv:
(A) Stalactite (B) Stalagmite

(C) Travertine _ | (D) Lapies
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79.

80.

81.

82.

Two main cold currents in the North Paciﬁc oceans are known as :
(A) Oyashio and California Current

(B) Alaska and Kuroshio Currents

(C) North Equatorial and Counter Equatorial Currents

(D) North Pacific and Kuroshio Current

Which of the following reasons is famous for the endangered Ridley turtles ?
(A) Gahirmatha |
(B) Sagarmatha

(C) Lakshadweep islands

(D) Andaman and Nicobar group of islands

Consider the following statements :

(1) Cherrapunji is located on the south side of Garo Hills.

(2) Cherrapunji is about 1700 meter above mean sea level.
Which of the statement/s given above is/are correct ?

(A) (1) only (B) (2) only

(C) Both (1) and (2) (D) Neither (1) nor (2)

In Thornthwaite’s scheme of classification of climate what does E indicate
in the context of India ?

(A) Semi-arid climate (B) Humid climate
(C) Arid climate (D) Dry sub-humid climate

In the context of India, in the 1 : 50,000 scale toposheet, how many meters

are represented by 1 centimetre ?
(A) 1000 meter (B) 500 meter
(C) 250 meter (D) 100 meter
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79.

80.

81.

82.
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83.

84.

85.

86.

87.

In which of the following projections is the equator twice the length of the

central meridian ?

(A) Gnomonic Projections

(B) Mercator Projections

(C) Mollweide Projections

(D) Zenithal Orthographic Projection

Which one of the following statements is not correct ?

(A) Tropic levels are the energy levels within food

(B) In deep oceans primary production is almost high

(C) The primary consumers are called autotrophs are primary consumer
(D) The decomposers are called saprotrophs are decomposers

‘Syntaxial Bend’ is a feature of which one of the following ?

(A) Himalayas (B) Aravalis

(C) Satpuras (D) Vindhyans

The ‘Progressive Wave Theory” regarding the origin of tides was put forth
by : |

(A) R. A. Haris (B) Isaac Newton

(C) W. Whewell D) G. B. Airy

The tropical cyclones do not oceur close to the equator because of :

(A) Weak Coriolis force (B) Light and variable winds

(C) Excessive humidity (D) Convective activity
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88. Match the List I with List II and the select the correct answer using the

codes given below :

List I List II
(Landforms) | (Processes)
(@) Natural Levees . (1) Aeolian
(b) Esker ' (2) Karst
(c) Polje 3) Fluvial
(d) Barchan 4) Glacial

Codes :

@ ® @© @
am & @ @
B Q& @ @ @
©@w @2 @ @
® 3 @ @ @

89. Which of the following pairs is not correctly matched ?

Concepts Scholars
(A) Rank-Size Rule G. K. Zipf
(B) Law of Retail Gravitation W. J. Reilly
(C) Concept of Conurbation Patric Geddes
(D) Concept of Megalopolis E. W. Burgess

90. Which one of the following term is credited to Humboldt ?
(A) Uranography ‘ (B) Biogeography
(C) Geomorphology (D) Climatology
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gi.

92.

93.

94.

95.

With reference to the Sendai Framework, consider the following statements :
(1) It is related to Disaster Risk Reduction

(2) It is a voluntary and non-binding agreement

(3) It is the successor instrument to the Hyogo Framework for Action (HFA)
Which of the statement/s given above is/are correct ?

(A) (1) and (2) only (B) (1) and (3) only

(C) (2) and (3) only D) (1), (2) and (3)

In which of the following kind of areas are you likely to find cave
formations ?

(A) Areas with depositions of lava

(B) Areas with abundant alluvium depositions

(C) Areas with limestone rich rocks

(D) Areas with sandy soil cover

According to the Human Development Report 2018, India Ranks in HDI is :
(A) 127 (B) 130

(C) 150 D) 121

An underdeveloped economy is characterized by :

(A) High per capita real income

(B) Large proportion of labour force in the tertiary sector
(C) State of deprivation of large proportion of population
(D) All of the above

The second stage of the “Theory of Demographic Transition’ is characterised
by :

(A) High birth-rate and high death-rate
(B) High birth-rate and falling death-rate
(C) Low birth-rate and low death-rate

(D) Falling birth-rate and high death-rate
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91. U Bugs & W #, frafafed wudl | four i
(1) 98 9er sifew # &t 4 gefeq
2) TE TF Wfess IR IR-wies) awEa €
(3) & TNl BUTH BR TRW (HFA) H STUUSERT STHR §
IR fear T HEE/EER wYT 9@ YE ?
A) 3@ (1) 3R (@) (B) Haa (1) 3R (3)
(C) e (2) 3R (3) D) (1), (2) 3 (3)
92. frafafaa & ¥ fog &3 # oust Tw Fmiv =) Gve § 2
(A) @@ & FHE e &
(B) WX BN § ciig Sl % WY &
(C) FA-TER H GYH FLH A &
(D) W gt & ofeo o &5
93. wra fawmm R 2018 & @R, HDI # 9Rd &t & ¥ :
(A) 127 (B) 130
(C) 150 D) 121
94, fasrfaq srforewen # fogma ¢ :
(A) =a ¥fq =afFq arafas 3
(B) Tod & # oW WA 1 91 UM
(C) “HEN & 9 UM H aivE & fefa
(D) Sww G4l
95, SMEifeyer AUl fagia & T W &) fadear €
(A) F=9 TH-R AR =0 JI-T
(B) =a §9-<X 3R fiRdt Jg-
(€) *9 9- AR ™ gg-<
(D) fRAt - 3R I=9 TI-
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96.

9i.

98.

99.

100.

The concept of least developed countries was first identified by the United
Nations in :

(A) 1958 (B) 1968

(C) 1978 (D) 1988

The theory of “Cumulative Causation” is credited to :
(A) Dicken (B) Waters

(C) Harvey | (D) Myrdal

How many Sustainable Development Goals (SDGs) have been agreed to, by
the world’s nations ?

4 8 - . B) 17
(C) 18 D) 19 .

Which of the following is/are the advantages of Green manure crops ?
(1) They keep nutrients from leaching down beyond the reach of crops

(2) They help legumes fix nitrogen in their root nodules

(3) They deter weeds even without the use of harmful herbicides
(4) They protect soil from erosion

(6) They can aid in soil tilling

Select the correct answer using the codes given below :

Codes :

(A) (1), (2) and (4) only

(B) (2) and (4) only

(G (), (@), (3) and (4) only
D) (1), (), (3), (4) and (5)

‘Which of the following trenches is not located in the Pacific Ocean ?

(A) Tonga Trench (B) Mariana Trench
(C) Puerto Rico Trench (D) Kamchatka Trench
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96.

97.

98.

99.

100.

T o fomfad 29 F @M W Ueeh 9K WgR Y gR TEEEN T e

(A) 1958 (B) 1968

(©) 1978 D) 1988

‘Tt wd @ fag@’ B 99 e W § e

@A) feda (B) =

(C) ®d (D) fasta

& Wi g frar T o il (TEER) W weEfd o W TR § 2
A) 8 (B) 17 -

©) 18 ®) 19

frfafen § & sFE & @R wEd & BRR T 7

(1) & 9% T O FEel B g A R A 9 (SifET) F sem ¥
@) ¥ FEdl w1 T F T B dh wH F WG FW ©
@) 2 wfFRe weiaEs & SwEm & fom off digg = 6 €
@) 3 R = o ¥ dEn ¥

5) 3J foed = w1 #§ TEEa = THA ©

R T T Fe & ST Hh FE@ SW H T RN :
T :

A) (1), (2) 3R @)

(B) (2 3R (@)

(€) (D, @), (3) IR @)

D) (1), (2), (8), (4) 3K (5)

frafafan § § FFet =X ywia werR d feom & § 2
@A) m ¥ (B) wfem 3=

) T =t 3= (D) HHERH I
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